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Question 1- A person spends 20% of his income on food and 30% on
education. Of the remaining he spends 20% on travel. Now he left with Rs
1200. Find his total salary.

T3 1- Ueh Ak 3T A B 20% T tqriomm%l I
Y I8 AT UL 20% Tl LAl &l e 98_1200 FIH TR AT TT| SEHT A oI

SIS

a) Rs 2000

BRs3000
c) Rs 4000

d) Rs 5000
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Question 2- A person sells an article for Rs 2640 and makes a profit of 20%.

At what price should he sell to gain 40%.

Question 2- Tk Afth Ueh ] @ ST & 3 20% AT ATH AT €,
40% TH JTH i o foTq 3 Toh¥ Hod UL ST =Me0?

ty+hor. | [R07=FWho | Moy = 22x140
= Yoy, o = ks = 3080 a) Rs 2080
— /° %:%Zz jpi b) Rs 3380
)}-Rs 3080
d) Rs 4080
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Question 3- Two trains running in same direction with speed 60 km/hr and

75 km/hr. In how much time faster train will cross the slower train if the

distance between them 1s 150 km.

T4 3- 21 o1 Tu fewn # 60 ferei/sier 3i 75 fehwi/sien <t i @ =t & 8 Al
3ok siter sl gl 150 fehrt ®, 1 oSt 71 & =it areft ¢ efift & ot foher wwr o

qR T2 >
N a) 4 hours
E@{C}AVQ g&ﬁdd_(\q_/qfﬂ o1\ — = b) 2 hours
c¢) 3 hours
—&J 10 hours

https://t.me/mathbytarunsirmepl



=)UP C[la'é_-[ DdI3¢dcT 20234

https://t.me/mathbytarunsirmepl



*=)UP UfcIA BbIRCdcT 20234

Question 4- There are 420 boys in a school and the total number of girls are

30%. Find the total students in the school.
WOk a4 Teh Thel H 420 TTSeh & N TS a1 h! el H&AT 30% gl Toreimerd | e

s DT hl EE&IT JTd hIY
O 107= 40
i 2) 100

FRLCHED by 0 10

¢ LeY 600
Ly d) 500
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Question 5- The price of sugar increased by 40% then what percent

consumption should be decreased so that expenditure does not change.

T 5- =i+ 3hT AT H 40% bl Iig 8% ol @O H fohel Ticierd ol shHT 6l ST
ITfeT d1feh =¥ § 8?2 9

/ SRR ét'_xloo

‘OOJRB /Z a) 12.55%

22 0 i 9@5a = 0

e Xlog s /r 7\&54\ b) 24.45%

Qo0 \ A :_—é c) 28:75% Q8- 5
d)31.35% ——
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Question 6- If cost price of 10 article 1s equal to the selling price of 6 article.

Find the profit or loss percentage.
T 6- A< 10 TEJST T 3 g @q\w o SIS 3| ST 3T &

ST T shifsl
EPs e PZ.—_ 2 Xloo
Lm < 9 a) 33.33%
$p - j%:—g— =2 —39"/3”6“;4 b7 66.66%

I c) 22.22%
\\/ = 663’/5 d) 45.45%
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Question 7- If article are bought at price from Rs 150 to Rs 300 and sold at
price from Rs 250 to Rs 350. Find the maximum profit after selling 15

g 7- Ifa q%dmmﬁﬁjmwﬁﬁ?ﬁmqt@ﬂﬁaﬁréaﬁmsowﬁﬁ 350
S e T I I S ST 1 5 Spehi h Siei o STTQ ST(ershad T T
Fifsr OI\LA

CP- Yrinimum AR G’hTQ a) Rs 750

S$P Matgmam ( 37%@@0 b) Rs 4250
SR 3000
d) Rs 4000
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Question 8- Two successive discount are 20% each. Find the single
equivalent discount percentage.

(e 2NN

T 8- 21 SHHTTT < 20% S[OE %| Kenet SHd Egdgﬁmilld hllsTd|

Net disoot 7= 244~ x4

106
- Z % a) 26%
020 7%3@ s
= L'O" Y @ c) 40%
= 56y, _&36%
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Question 9- In what time will the simple interest be 2/5 of the principal at 8%

per annum?
Er%T;-l IS shi ST & GT0T o @ AL ShT 2/5 BT SITUT?
Dl =5 | =681
o6&
S‘ j vi@/ § a) 4 years
\§ e o ;/[aju b) 6 years
3 ‘% 5 c) 8 years
«d)-S-years
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O

Question 10- A certain sum of money placed at compound interest doubles of

itself in 12 years. In how much time it becomes eight times of itself wit
same rate of interest.
57 10- skl ATST YT Tl 15 Ueh {Hi2rd T 12 39 @‘ HEEIES

STST S o |1 IR fehd- THA H 37U 3719 h1 313 T Bl ST &7

o) | 2y
. Z Q 3 a) 48 years
R¥ ~ Rk b) 40 years
)\_' Zi Ni& = ?@j\: M years
R d) 24 years
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Question 11- A 60 liter of mixture of milk and water contains milk and water

in ratio 7:3. How much water must be added to make this ratio 3:7.

T 11- 381 AT o 60 e FHoor H g8 ST T =61 19T 7:3 21 360 3T
®03:7 S & w@maﬁw

a) 40 L
b) 60 L
c) 80 L
d) 120 L
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Question 12- There ar¢ 480 boys and girls in a school in which ratio of boys
and girls 1s 7:5. If 40 girls are added then what will be ratio of girls and boys.

U %ohﬂ@?%saﬁ?dsﬁoa'r%ﬁqﬁagﬁaﬁt TS Tohal T STUTT 7: 5 B
T 40 ASIRAT Shl STIST ST %?ﬁgiaohql X TSRl hT AU 1 %ﬁTrr‘?

|G = 5xHo
@(R 61)9 T 3 IR= 480 G = 00
i by ()-‘ a) 7:6
B F= doxt 3= @Oo*yg)o b) 7:5
2 = Nkp )67
B-—l&b £ 6 A d) 5:7
https://t.me/mathbytarunsirmepl
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Question 13- A certain number of men can do a work in 60 days. If there

were 15 men more 1t could be finished in 10 days less. How many men were

there in the beginning ?
T 13- T IS ST H T89 T 1 ohi 60 ot 3 s gehd 2l Afs 15 789
3ffereh B o1 38 10 fo 6w o g1 foram ST EehdT oMl ITiw | e goy 912

A. 60
H .

B. 70
S
D. 80
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